Status of the setup:
CcOSMicC runs

A. Irles, LLR, 9th Mai 2017

Cosmics at LLR (single slabs) -
very long spills!

In setup at LAL - it is not possible
to run with spill larger than 2.85 ms
— noise burst in BCID = 4096+2050
Long cosmic data taking.




W 2 slabs, covered, CC, spill 2Hz, 170ms width
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Cosmics at LLR

Data Integrity

Data_Integrity

Entries 10344
Mean 0.00408
RMS 0.1685

sl o b b by Lo b bl L a1y
1 2 3 4 5 6 7 8 9

Data Integrity_BCID

Data_Integrity BCID
Entries 6
1= Mean 311.8
E RMS 8.764
107 =
102
10° =
e Uil o ] e il il
100 200 3 400 500

7 = different hit bit for
low/high gain



Cosmics at LLR: channel monitoring |

@ “high” negative entries (~0.01-1 of total), “moderated” retriggers (~1-3 of total)
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Cosmics at LLR: chip monitoring
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Cosmics at LLR: channel monitoring i

N-hits, SCA=0

[o% [—
= 15-
o 5
10
5 -
o= ; ; \ . : ,
0 10 20 30 40 50 60
Channel
N-hits, NEG, SCA=0 Tntegral 798
£ 15 T I | |
Q
10
| |
I . 150
|
5 100
0 L L L L L ,
0 10 20 30 40 50 60
Channel

N-hits, SCA>0

N-hits, RT, SCA>0

30 40

N-hits, NEG, SCA>0

_Imggral 6400

60
Channel

[ Integrali.292e-+05 |

60
Channel

Integral 4643

60
Channel







Cosmics at LAL: spill of 10Hz and 5ms, PP mode

m Pedestal = Hit (exceptin SCA=0)
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Cosmics at LAL: spill of 10Hz and 5ms, PP mode

| Spill width > 2.85 — spike of noise at BCID = 2050 (tested with CC and PP)
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Cosmics at LAL: spill of 10Hz and 2.5ms, PP mode

m No errors. No problem with BCID = 2050, retriggers dominates SCA > 0, but quality of filtered events
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m No errors. No problem with BCID = 2050, retriggers dominates SCA > 0, but quality of filtered events

is good
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Cosmics at LAL: spill of 10Hz and 2.5ms, PP mode
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Expected ~50-100
cosmic per chip
(excess of x2-4)

Expected ~ 100-200 ?
cosmic per chip
(excess of x10)

Assume 1-2cosmic/min cm”2



W What is different between LAL/LLR setups?

e CC/PP (checked, it is not the reason of BCID = 2050)
e Slight modifications in the slow control files (cc=6pF at LAL, no hold optimization)

e LLR: not masking of ADC=4 channels

e Power supplies + rack (LAL runs with 100V... LLR ?)

e Why root data from LLR starts from acquisition number 30000 ??
e DIF firmware ?

e Spill settings ?



LAL MIPS: 40Hz, 2.5 ms, 24 h
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LAL MIPS: 10Hz, 2.5 ms, 29 h
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LAL MIPS: 10Hz, 2.5 ms, 29 h
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LAL MIPS: 10Hz, 2.5 ms, 29 h
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LAL MIPS: 10Hz, 2.5 ms, 29 h
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LAL MIPS: 40Hz, 2.5 ms, 24 h

SCA>0 = Integral 1601
| i
||"“ 1]
T
[11]
I]II
60 10
NHits
SCA=0, retriggered
215F -
= L 5
[&] L 3
10F d
sk i
0| N : N N X 0
10 20 30 a0 50 50
NHits NHits BCID
SCA=0, negative SCA=0, negative Tntegral 131
215 215F
=y 0 < 5
o ° L
5 [
10 ° 10 [
> [
N [
5 15 5
o !
1 !
0l .. L N N L |, [s]
10 20 30 40 50

NHits



LAL MIPS: 40Hz, 2.5 ms, 24 h
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LAL MIPS: 40Hz, 2.5 ms, 24 h
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